A2 2| SO ALA

(230)RUALIS  ME(233)7E  =:(401)A|LH|LRCHH]| (T2l @ Q)
I =2
TEaATs Au | G | B2
& A 7,443,000 8,293307| 850,307
200 ZfEA2|12 7,443,000 87293307| 850,307
230 REALES 3,953,000 4,851,500  A898,500
233 8 500,000 250,000 250,000
401 A|MdH|LLChH| 500,000 250,000 250,000
01 AlgH| 500,000 250,000 250,000
oM SEstHeAE AMdE B4 22
300,000,0008 x 14 = 300,000
OB Bt 22|Ald | 200,000,0008 x 14 = 200,000
234 FEE 1,123,000 960,000 163,000
401 A|MdH|LLChH| 1,123,000 960,000 163,000
01 Al&H| 1,093,000 960,000 133,000
OdteE 24 4 7218 B4 100,000,000% x 14| = 100,000
Of 82|17 4| 150,000,000 x 14| = 150,000
OB SoIe22IAE STHAGHOIY 2H| L FdAlY d3
40,000,0009 x 14| = 40,000
O THISET CAIZSTHSAIRY(ER) 803,000,0008 x 14 = 803,000
02 ZzH| 30,000 0 30,000
OO THIGET SAIRISTHS ALY 22| 30,000,0009 x 14] = 30,000
235 7|AHRAA| 4,000 500 3,500
405 ZpAZ|SH| 4,000 500 3,500
01 ZRILUSEZSH| 4,000 500 3,500
OFE27| 7Y 4,000,0008 x 1tff = 4,000
239 AHSOIRME 2,326,000| 3,641,000 ~1,315,000
401 A|AdH|YLCHH| 2,326,000| 3,641,000 ~1,315,000
01 AlgH| 1,683,000  3,028,000| 21,345,000
RUXETY Q| stz YH|(EX) 1,192,000,000¥ x 14/ = 1,192,000
OZ|2 =020t stk EH|(EZR) 157,000,000 x 1Al = 157,000
O4AH S02012 Sk HB|(ER) 200,000,00024x14] = 200,000
OZ|E BHCHOLS Sl4{2|AlM FHH|(ER) 134,000,0004x14] = 134,000
02 Ze2H| 630,000 600,000 30,000
ORUA2|TY 2| sirlz FH| ZeH|(BZ 600,000,0009 = 600,000
022 S0j201E ST ZH| Z2H|(ER) 30,000,0009 = 30,000
03 Al&EChH]| 13,000 13,000 0
FxelTY Q| stpRE FH| i 13,000,0009 = 13,000
280 HIRSEaHAE 3,440,000| 3,441,000 A1,000
289 7|EHH|GESE AR 3,440,000| 3,441,000 A1,000
612 7|EHIRSFANASE 3,440,000| 3,441,000 A1,000
O3] BTLAIY ACHZ(ER) 3,440,000,0009 x 1Al = 3,440,000 3,440,000 3,441,000 A1,000
800 OfjH[H]| 50,000 807 49,193




B (00) AHEHAS 3 (800) oftlH
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= PN
Al oH = = =
FwNT = AU | qaoy | 3
801 OfH|H]| 50,000 807
801 OfH|H]| 50,000 807
01 utojBly| 50,000 807
OOf|HH]| 50,000,000¢ = 50,000




